
1.800.338.7337 / www.soundoffsignal.com

ETSSVBK05  1122  REV B1

100N/100J SERIES SPEAKER BRACKET (NO DRILL) CAPABLE OF HOLDING UP 
TO TWO SPEAKERS FOR THE DODGE DURANGO PURSUIT 2018 - 2023, BUM-
PER MOUNT CENTER
ETSSVBK05

CONTAINS

QTY COMPONENT

1 Speaker Bracket

4 1/4” - 20 x 3/4 Bolts

8 1/4” Washers

4 1/4”- 20 Nylon Nuts

2 10-32 x 3/4 Bolts

1 Installation Instruction Sheet 

1 Product Warning Card

•HIGH CURRENT interconnects must be properly terminated.  Poor crimp quality can cause heat build-up and 
fire.  Follow crimp connector manufacturer instructions.
•DO NOT install this product or route any wires in the Air Bag Deployment Zone. Refer to vehicle Owner’s 
Manual for deployment zones.
•Do NOT use system to disconnect headlights, brake lights or other safety equipment.
•Unit may become hot to touch during normal operation.
•Failure to properly install connectors, fuses or wiring may cause vehicle failure or fire.
•Installation must only be performed by trained technician.  Installer must determine vehicle wiring 
configuration and proper integration of system.
•Use proper wire gauge.  All power wires connecting to positive (+) or negative (-) battery terminal or local 
chassis ground (-) must be sized to supply at least 125% of max. current and properly fused at power source.
•Install protective grommets when routing wire through firewall or metal. 

WARNING

*Speaker and Bail Bracket Sold Separately

INTRODUCTION:

ETSSVBK05 PICTURED WITH ETSS100J SPEAKERS*

NOTICE: 
Installers and users must comply with all applicable federal, state and local laws regarding use and installation of warning devices.

Improper use or installation may void warranty coverage.
To review our Limited Warranty Statement & Return Policy for this or any SoundOff Signal product, visit our website at www.soundoffsignal.com/tech-services/returns/.

If you have questions regarding this product, contact Technical Services, Monday - Friday, 8 a.m. to 5 p.m. ET at 1.800.338.7337 (press #4).
  Questions or comments that do not require immediate attention may be emailed to techservices@soundoffsignal.com.

ENHANCING SAFETY THROUGH INNOVATION

NOTE: SPEAKERS AND BAIL BRACKET NOT INCLUDED  
1

3

4

5

11

REVISION LOG

REV DESCRIPTION INITIALS ECN DATE

1 DURANGO SPEAKER BRACKET 
ASSEMBLY DRAWING AJD 5896 4/20/2020

ITEM NO. PART NUMBER Description

Q
TY

.

1 002BR948 BUMPER SPEAKER BRACKET 1
2 002BG009 2 X 3 ZIPLOC BAG                  1
3 002SB116 1/4-20 X 3/4 IN. HEX HEAD S.S. 4

4 002FWS14 FLATWASHER SS 1/4" (5/8" OD) 8

5 002NU002 HEX NUT-1/4-20 NYLON LOCK 
STAINLESS 4

6 002LA1028 GENERIC PRODUCT WARNING CARD 1

7 002LA1050 CALIFORNIA PROP 65 WARNING LABEL 1

8 002IS000 INSTALLATION/INSTRUCTION SHEET(S) 1

9 002LA482 BLANK LABEL WHITE 2" X 1.5" 1

10 002BG024 8" X 24" X 4 MIL PLASTIC BAG 1

11 002SC181 SCREW, SS THRDLK SKT HD 10-32 X 3/4 2
A A

B B

C C

D D

E E

F F

G G

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

CAD DIMENSIONS ARE BASIC 
UNLESS OTHERWISE SPECIFIED

GD&T TO FOLLOW
ASME Y14.5M-2009

DRAWING NO:

B PRIMARY DIMS:  INCH
DUAL DIMS:  [mm]

TOLERANCES
EXCEPT AS NOTED

.X      ± .020

.XX    ± .012

.XXX  ± .006
ANGLES  ± .5°

DO NOT SCALE

DRAWING
SIZE:

SHEET 1 OF 4

DESCRIPTION:

REVISION:

01

®

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN 
THIS DRAWING IS THE SOLE 
PROPERTY OF SOUNDOFF SIGNAL.  
ANY REPRODUCTION IN PART OR 
AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 
SOUNDOFF SIGNAL IS PROHIBITED.

THIRD ANGLE
PROJECTION

100 SERIES SPEAKER BRACKET KIT (01)

MATERIAL:

ETSSVBK05

BRACKET COMPATIBLE 
WITH SPEAKERS:

 
- 100J
- 100N



1.800.338.7337 / www.soundoffsignal.com

ETSSVBK05  1122  REV B2

100N/100J SERIES SPEAKER BRACKET (NO DRILL) CAPABLE OF HOLDING UP 
TO TWO SPEAKERS FOR THE DODGE DURANGO PURSUIT 2018 - 2023, BUM-
PER MOUNT CENTER
ETSSVBK05

INSTALLATION: 
1.	Remove the front bumper cover assembly to access the bumper for 

speaker bracket installation. The assembly should be removed as 
one piece, not individually. Consult a local Dodge service center for 
bestdisassembly method. Keep all hardware.

2. Remove the foam pad from the bumper by removing the two plastic 
push clips located on the bottom of the foam pad, as shown in Fig. 1. 
Keep all parts.

3. Remove the plastic fascia support by removing the two bolts in the 
bumper, as shown in Fig. 2. Keep all hardware.

4. Bumper should look like this with all foam and plastic removed, as 
seen in Fig 3.

PLASTIC PUSH 
CLIP

PLASTIC PUSH 
CLIP

FIG. 1

BOLTS TO REMOVE

FIG. 2

FIG. 3



1.800.338.7337 / www.soundoffsignal.com

ETSSVBK05  1122  REV B3

100N/100J SERIES SPEAKER BRACKET (NO DRILL) CAPABLE OF HOLDING UP 
TO TWO SPEAKERS FOR THE DODGE DURANGO PURSUIT 2018 - 2023, BUM-
PER MOUNT CENTER
ETSSVBK05

INSTALLATION (CONT): 

5.	Place bumper speaker bracket over the bumper and align 
holes, as seen on Fig 4. 

6.	Place plastic fascia support in the holes on the bumper 
speaker bracket and attach the fasteners removed in 
Step 3.

7.	Attach the speaker bail bracket to the bumper speaker 
bracket using the supplied speaker hardware, tighten to 
10 ft-lb or fully secure.

8.	Install the set screws into the bumper speaker bracket. 
The set screws provide pre load on bumper to help 
prevent vibration. These will not fully tighten.

9.	The foam pad may need to be trimmed in order to 
properly fit around the bracket.

10. Install the foam pad.
11. Reinstall the front fascia using the factory hardware. 

FIG. 4

NOTICE: 
Installers and users must comply with all applicable federal, state and local laws regarding use and installation of warning devices.

Improper use or installation may void warranty coverage.
To review our Limited Warranty Statement & Return Policy for this or any SoundOff Signal product, visit our website at www.soundoffsignal.com/tech-services/returns/.

If you have questions regarding this product, contact Technical Services, Monday - Friday, 8 a.m. to 5 p.m. ET at 1.800.338.7337 (press #4).
  Questions or comments that do not require immediate attention may be emailed to techservices@soundoffsignal.com.

ENHANCING SAFETY THROUGH INNOVATION

FIG. 5

SET SCREWS


